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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
41 39 29 33 . 164
e 4 e 5 e 5§ ° 9
164 195 145 297 5 195
3 145
4 297
5 6 7 8
) 36 ) 12 ) 16 ) 71 . 250
[ ] 7 [ ] 7 [ ] 2 [ ] 3
252 84 32 213 6. 84
7. 32
8 213
9 10 11 12
) 41 ) 32 ) 35 ) 86 . 308
° 8 o 2 o 7/ ° 3
328 64 245 258 10, 64
11. 245
12. 258
13) 36 14) 63 15) 52 16) 55
13 72
e 2 e 8 e 3 e 3
72 504 156 165 14. 504
15, 156
16. 165
17 18 19 20
) 63 ) 34 ) 85 ) 65 . a1
[ ] 7 [ ] 4 [ ] 6 [ ] 4
441 136 510 260 18, 136
19, 510
20. 260
110 |95]90]85]80]75] 70| 65| 60] 55| 50
[ Mathe ] WWw.CommonCoreSheets.de 5 11-20{ 45 40| 35]30[ 25/ 20] 15[ 10 5 | 0




JL_

Multiplikation - vertikal Name:
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